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B . -. - Addisjon opptil 100 (horisontalt)

StudentName: ExamDate: _ ExamScore: ____
93 + 36 = 88 +49 =
15+ 69 = 63+ 72 =
60 +92 = 3+54=
37+74 = 69 + 77 =
31 +6= 46 + 13 =
88 +46 = 19+2=
65+1= 40+ 63 =
66 +71 = 52+ 64 =
90 +40 = 94 + 81 =
14 + 65 = 71 +70 =
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Addisjon opptil 100 (horisontalt)

StudentName:

93 +36 =129

15+69 =84

60 +92 = 152

37+74 =111

31 +6=237

88 +46 = 134

65+ 1= 66

66 +71 = 137

90 +40 = 130

14+65="79

ExamDate:

88 +49 = 137

63 +72 =135

3+54=1757

69 + 77 = 146

46 + 13 =59

19+2=2I

40 +63 = 103

52+64=116

94 +81 =175

71 +70 = 141
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